Cross practices

1.  In birds, long tails are dominant to short tails.  Cross a homozygous dominant female with a homozygous recessive male.

 ______= long tail allele   _______= short tail allele

	
	

	
	


Parent genotypes _________x ___________

What percentage of the offspring will have long tails?  _________
What percentage of the offspring will have short tails? _________
Phenotype ratio:                                                              

Genotype ratio:

2.  In dogs, normal hearing is dominant to deafness.  Cross a heterozygous female with a heterozygous male.

 ______= normal hearing allele   _______= deaf allele

	
	

	
	


Parent genotypes _________x ___________

What percentage of the offspring will have normal hearing?  _______
What percentage of the offspring will be deaf? ___________

Phenotype ratio:                                                              

Genotype ratio:

3..  In cats, short fur are dominant to long fur.  Cross a homozygous dominant female with a heterozygous male.

 ______= short fur 

_______= long fur
	
	

	
	


Parent genotypes _________x ___________

What percentage of the offspring will have short fur?  ___________

What percentage of the offspring will have long fur? ___________

Phenotype ratio:                                                              

Genotype ratio:

4.  In cartoon sponges, round body is dominant to square body.  Spongebob, who is square, marries a female sponge who is heterozygous. Fill in the information below to find out what kind of kids Spongebob would have.
 ______=Round body 

_______= square body
	
	

	
	


Parent genotypes _________x ___________

What percentage of the offspring will be round?  ___________

What percentage of the offspring will be square? ___________

Phenotype ratio:                                                              

Genotype ratio:

Challenge Questions

5. In pea plants tall (T) is dominant to short (t) 

What are all of the possible genotypes of the parents of an offspring who has the genotype (TT).



Mother Plant  

Father Plant

	
	

	
	


6. Tongue rolling is dominant to not being able to roll your tongue.  A woman who can roll her tongue marries a man who cannot.  Their first child has their father’s phenotype.  What is the genotype of the mother, father, and child?       Mothers genotype:_______


           Fathers genotype: _______


          Childs genotype: _______
What is the probability that their next child can roll their tongue?
Punnett Squares Revisited

1.  In humans, dimples is dominant to no dimples.  Cross a homozygous recessive female with a homozygous recessive male.

	
	

	
	


 _____= Dimples 

_____= No dimples

Parent genotypes _________x ___________

What percentage of the offspring will have dimples?  ___________

What percentage of the offspring will have no dimples? _________ 
Phenotype ratio:                                                              

Genotype ratio:

2.  In rabbits, brown fur is dominant to white fur.   Cross a heterozygous female with a homozygous dominant male.

 ______= brown fur

_______= white fur

	
	

	
	


Parent genotypes _________x ___________

What percentage of the offspring will be brown?  ___________

What percentage of the offspring will be white? _________

Phenotype ratio:                                                              

Genotype ratio:

3.  In humans, rock and roll disease is dominant and not having it is recessive.  David is heterozygous for rock and roll disease but his wife Helen does not have rock and roll disease.  What is the probability that their first son, Little Jimmy, will be born with rock and roll disease?

	
	

	
	


 ______= disease

_______=  no disease

Parent genotypes _________x ___________

Probability Little Jimmy will have rock and roll disease ______

Challenge questions

4. Large eyes (L) are dominant to small eyes (l) 

What are the possible genotypes of the parents of an offspring who has large eyes (Ll).



Mother  

Father

	
	

	
	


5. Large eyes (L) are dominant to small eyes (l) 

What are the possible genotypes of the parents of an offspring who has small eyes (ll).



Mother  

Father

6. Tongue rolling is dominant to not being able to roll your tongue.  A woman who can roll her tongue marries a man who cannot.  Their first child has their father’s phenotype.  What is the genotype of the mother, father, and child?       

          Mothers genotype:_______


          Fathers genotype: _______


          Childs genotype: _______

What is the probability that their next child can roll their tongue?

7.  Think! Think! Think! question.  In cartoon sponges, round body shape (R) is dominant to square body shape (r).  
Spongebob has never taken genetics and does not understand why he is square when is parents are round and 
thinks he may be adopted.  Squidward tells Spongebob his parents genotypes must be RR x Rr.  Patrick tells him 
they must be RR x RR.  Gary says they must be Rr x Rr.  And Mr. Krabs says they must be Rr x rr.  Who knows 

the correct genotype of Spongebob’s parents and explain why the other three are wrong. 
Name: ______________


Period:_____ Seat:____








